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Note:	 The Question paper will be divided into three sections 
A, B and C.

	 Section - A	 8 x 2 = 16
Note:	 This section will contain eight (08) Very Short Answer 

Type Questions (one word), one sentence and 
definitional type item) having weightage of 16 (sixteen 
marks. Examinees will have to attempt all questions. 
Each question will be of 2 (two) marks and maximum 
word limit will be 30 (thirty) words.

1)		  Read the passage carefully and answer the questions 
given below:

			   One day when Newton was fifty years old and had 
been working for twenty years, went out of the room 
for some work. All his hard work was a heap of papers 
on the table near a lighted candle, which contained all 
the facts which Newton had found during those twenty 
years. He had a small dog named Diamond. Diamond 
was asleep near the table. When its master had gone, 
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it rose up and jumped on the table and overthrew the 
lighted candle. The papers at once caught fire and burnt 
all of them into ashes. When Newton came back, he 
saw all his hard work had reduced to a heap of ashes. 
There stood little Diamond who had done all the mischief 
wagging its tail.

			   Newton knew Diamond was innocent and to be 
angry with him was useless. So he patted on the head 
as kindly as usual and said, “O Diamond! You little know 
the mischief you have done.” He remained calm even 
later too Diamond always got the same lovely treatment 
from his great master.

	 (i)	 The heap of paper on the table were
		  a)	 20 papers
		  b)	 Newspapers
		  c)	 Newton’s collection of hard work
		  d)	 20 years newspapers

	 (ii)	 The paper caught fire because:
		  a)	 they were lying in the heap
		  b)	 The dog was sleeping before fire
		  c)	 Newton left the room
		  d)	 A lighted candle was overthrown

	 (iii)	 Newton did not punish Diamond because:
		  a)	 It was innocent
		  b)	 Newton was old
		  c)	 Newton was not well
		  d)	 Diamond was not happy
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	 (iv)	 ‘Hard work’ means:
		  a)	 He had been doing work that was hard
		  b)	 He was hard of hearing
		  c)	 He worked hard
		  d)	 He worked hard for 20 years to collect facts

	 (v)	 Find proper noun from this passage:
		  a)	 Man and dog
		  b)	 Diamond and Newton
		  c)	 Man and animal
		  d)	 Dog and human

	 (vi)	 How old was Newton?
		  a)	 20
		  b)	 48
		  c)	 50
		  d)	 18

	 (vii)	Who was asleep?
		  a)	 Diamond
		  b)	 Master
		  c)	 Newton
		  d)	 Fire

	 (viii)	For how many years did Newton work hard?
		  a)	 22 years
		  b)	 20 years
		  c)	 50 years
		  d)	 18 years
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	 Section - B	 4 x 8 = 32
Note:	 This section will contain Eight Short Answer Type 

Questions. Examinees will have to answer any four (04) 
questions. Each question will be of eight (08) marks. The 
weightage of this section will be of thirty two (32) marks.

2)	 Choose the correct prepositions:
	 (i)	 Don’t laugh ______ others (at/for/on)
	 (ii)	 He is proud ______ his wealth. (to/from/of)
	 (iii)	 The juice is ______ the bottle. (in/with/for)
	 (iv)	 Pass me the dictionary, it’s ____ the bookshelf. (on/in/with)
	 (v)	 The cow is tied ______ rope. (from/with/by)
	 (vi)	 Jaipur is ______ Rajasthan. (in/by/from)
	 (vii)	She left Delhi ______ the 4th of March. (on/from/by)
	 (viii)	The cat jumped ______ the river. (on/into/across)

3)	 Fill in the blanks with - a, an, the, any, some.
	 (i)	 The class went on ______ boat trip.
	 (ii)	 The dog caught ______ ball.
	 (iii)	 I saw ______ elephant at the zoo.
	 (iv)	 This is ______ English paper.
	 (v)	 Can you buy ______ umbrella?
	 (vi)	 I really want ______ one rupee coin.
	 (vii)	Would you like ______ more juice?
	 (viii)	The Sun rises in ______ east.

4)	 Rewrite the sentences with correct form of tense:
	 (i)	 He (go) to school daily.
	 (ii)	 Ram (study) in college.
	 (iii)	 I am (work) hard to get good marks.
	 (iv)	 Hari is (sit) next to me.
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5)	 Choose the correct adjective or adverb and rewrite the 
correct sentence:

	 (i)	� He (correct, correctly) explained. The answer sounded 
(correctly, correct).

	 (ii)	� She (quickly, quick) calculated the fees. She can 
calculate (quick, quickly) any number.

	 (iii)	� He was a very (sensibly, sensible) person. He acted very 
(sensible, sensibly).

	 (iv)	� Raman wrote too (slow, slowly) in the exam. He always 
writes (slow, slowly).

6)	 Choose the correct noun and write only the noun as answer:
	 (i)	 Our team will win the game.
	 (ii)	 The elephant is a useful animal.
	 (iii)	 Where did Ratan lose his bag?
	 (iv)	 Whose car is parked near your house?

7)	 Write ten lines on any one of the following:
	 (i)	 My father
	 (ii)	 My best friend
	 (iii)	 My house

8)	 Write Court Barber and Birbal story from the prescribed text.

9)	 Choose the pronoun and answer only pronouns in your 
answer copy:

	 (i)	 He is a sharp boy.

	 (ii)	 We went to picnic with my parents.

	 (iii)	 Our college is the best.

	 (iv)	 Where did you go riding your bike?
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	 Section - C	 2 x 16 = 32
Note:	 Answer any two questions. You have to delimit your 

each answer maximum upto 500 words. Each question 
carries 20 marks.

10)	 Write a letter to the Headmaster to grant you two days leave 
as you want to go home.

11)	 Write a letter to your father telling him you want to go to a 
mela (fair) and need money.

12)	 Write a paragraph on any one topic:

	 (i)	 Your city

	 (ii)	 Your favourite hero

	 (iii)	 My favourite place to visit

13)	 Write a précis of the following passage:

	 The horse is a very useful animal. It is found in almost every 
country. It feeds on grass or gram. It is used for riding over 
long distances. It is used in the cities for carrying luggage 
by cart. An Arabian horse is world famous. It is used by the 
military to carry soldiers. It is also used in sports. Polo is a 
popular sport in which horse is used.


